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® 4+vV3cm, V4l cm @5\/§cm,\/éﬁcm
® 6+v3cm, V40 cm @ 543cm, V4lcem

® 5v2cm, V42 cm

V3a = 5v3(cm)
V12 + 42 + 52 = V42(cm)
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@4 \/ﬁch @ 4\/§Cm2 @ 40m2
® 8V2cm® ® 16 V3cm?
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AM = 4v3=AN
MN =4
(AAMN9] =9])

= \/(4V3)2 - 22 = VH = 2VIT

1
5 AAMN = 4 x 211 x 5 = 4V11(cm?)
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@ 177 cm?

(@)1971’ cm?

@ 207 cm?

® 21lrcm?

V19(cm)

19 x V19 x 7 = 197( cm?)
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® V3cm, 3V3rcm?
@ +35cm, 3V35rcm?

® 2455cm, 2 V557 cm?
® V50cm, V55mcem?
@\/%cm, 3v55m cm3

o] V82 -32 = v64-9 = V55(cm)
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Ho : 9r x \/%ng3\/%7r(cm3)
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@ 4v5  B)sv5

15 = V62 + 82 + x2
225 =36+ 64 + x% , x2 =125
x>00°E2 x =55
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® 81+V3cm? @ 486 V3cm? ® 162 V3cm?
@ 486cm?2 (6)162cm2
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A ] 7 mAjE o] Lo a 2 5t
V3a = 90|82 g mAJE] 2] Zo]7} 3y3emeltt
AeHA o B olE 642 o|B=

6 (3 «/5)2 = 162(cm?)




@ 3 @ 3+ 2
® 5 @ 52
®)5+5v2

HA |4 DE + DF 9] 2L

E=V32+4=5
DF = V32 +42 52 =5+2

. DE +DF =5+ 5+v2 o|t}
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121 V2 1222

@ 12 (Cmg) @ 12 (CI’II3)
1232 1252
® 127 V2 (cm?)
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® 10ecm @ 1lcm @12cm @ 13cm @ l4cem
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e =14

179 42

a® =12 x 144 = 2633 = (22 x 3)°
. a=12(cm)
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@ 64cm?, 64cm? @ 64v3cm3, 24cm?
121
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@64 V2ems3, %cm3
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‘4131 S 2hg H 2t st A4 OAH= A2
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OH = /62— (4V2)2 = V4 =2(cm)

(5-1) =%><(8x8)x2: %(Cmg’)




12.

o2 13 Zo] A9 Zol7t Tem 9
& o] wm o] Z¢ o] Zol7}t 10rem Y
o] Y& o] =o]=?

® 3cm @ 4cm
@2\/56111 @ 3vV5cm
® 6cm
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D 7v2cm @ 7vV3cm (@)8\/§cm
@ 8+v3cm ® 9v2cm

BB = V82 +82 = V128 = 8 V2(cm)




16. the 2Fe @ A Zol7t bemd A
w7 m. A Ho A BjZH4 DF ol il 441
o 9 M 744 9] A& Fatelat.

o] &

@2\/60111 @ 6+V3cm ® 2+v5cm
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B
HF = 62, DF = /62 + (6v2) = 6V3
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18V2 = 3v3 x HM

— 6V2 66
. HM = B3 =26(cm)
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AC = V82 + 82 =8+2(cm)

H_C:%A_C:4\/§(cm)

. VH = /102 - (4v2)2 = V68 = 2V17(cm)

AVHC 9] §ol= g :%x4\/§x2\/ﬁ:4\/3_4(cm2) o
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